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No. 25 %+ 50m BEB®HE A LL—RRE

L 2845% >

B K& 4 & FE K& iclE
1 Otk B RSP SYN /N2 4/ 5 38. 63 9% ( 0.77)
2 WA = KSGé&xb /N2 4/ 6 39. 63 8% ( 0.92)
3 HH 5% A b~ /NER /N2 4/ 4 41.58 % (0.73)
4 Bk fERE BAAKRIIS S /N2 4/ 7 41.78 *F8 T#%  ( 0.83)
5 /b IR FEVK R 2R HHSS /N2 4/ 8 42.98 6% ( 0.81)
6 Il HER JSSE ke /N2 3/ 7 44.02 65% ( 0.83)
T HE O KTEE K S G| /N2 3/ 6 44. 59 5% ( 0.66)
8 KT HEM A4 b~ riE /N2 4/ 3 44. 86 *FH 5%t  ( 0.83)
9 BrH )Y K S G KiE /N2 4/ 9 45. 36 58 ( 0.76)
10 58 KTz 7 7 201 /N2 2/ 4 45. 50 5#% ( 0.65)
11 SHERE KEHE S C /N2 4/10 45. 59 5#% ( 0.75)
12 8 EE fIFES S /N2 4/ 1 46. 26 4%%  ( 0.88)
13 JRHT 03 FLAESS 7N 3/ 4 46. 55 4% ( 0.86)
14 FEAFAL % i K S GHIJI /N2 3/10 46. 71 4 ( 0.87)
15 KA EA 4 r~v I\ & /N2 4/ 2 46. 79 4%%  ( 0.81)
16 HE 1 LFERS C 7IN2 3/ 5 47.09 4% ( 0.70)
17 &T0E  SEme K 'S GHJI| /N2 3/ 9 48. 20 3fk  ( 0.57)
18 12 RS K S GHI /N2 2/ 3 48. 32 3k (0.84)
19 HE %= VISVNP S /N2 1/ 4 51.65 ( 0.92)
20 fEH Fn %S S /N2 2/ 6 51. 66 ( 0.83)
21 = AR A M/ B 48 ] /N2 3/ 1 51.92 ( 0.83)
22 WK Fib A Moy KT /N2 3/ 3 52.06 ( 0.79)
23 WAJR MESZ K S G K5EJf IIN2 2/ 5 52.10 ( 0.85)
24 &R 1t K S GHI)II /N2 2/ 8 52. 69 ( 0.73)
25 VLR BHIE Ay ABE K /N2 1/ 5 54.87 ( 1.00)
26 EH  faE FEVK R 2R FHSS IN2 1/ 8 54.91 *F) ( 0.66)
27 1L EE Ty b VEFE /N2 1/ 6 55.16 ( 0.94)
28 JRIH me N2 N /N2 1/ 7 57.28 *TFH ( 0.86)
29 # A M/ AE ERIMT /N2 2/ 1 58.78 ( )
30 (LA HEA flES S /N2 1/3 1:02.36 ( 1.01)
31 Ve /M A4 b~ B /N2 3/ 2  1:14.77 *F® ( 0.64)
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